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ÍÛæ̃ Û¶ÛÛ : (1) ¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé. 

  (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ ÅÛ”ÛéÅÛ …Û×ïõ¦øÛ…Ûé ¾ÛÐü«Û¾Û ¾ÛÛîÍÛÙ ÍÛæ˜ÛÈÛé ™öé. 

 

1. ©ÛÛ. 1-4-2009 ¶ÛÛ ÁõÛé›÷ ËÛà ‘…’ …é ½ÛÛÜÈÛ¶Û ¤Öéø¦øÍÛÙ ¸ÛÛÍÛé¬Ûà …éïõ ýÛ×ªÛ ½ÛÛ¦øÛ ”ÛÁõàþù ¸Û±ùÜ©Û¬Ûà ”ÛÁõà²ä×. 
ýÛ×ªÛ¶Ûà ÁõÛéïõ¦ø Ýïõ¾Û©Û ` 1,40,000 ™öé. ýÛ×ªÛ”ÛÛ©Ûé ïäõÅÛ ÁõÛéïõ¦ø Ýïõ¾Û©Û ýÛ×ªÛ ”ÛÁõàþù©Ûà ÈÛ”Û©Ûé ŠµÛÛÁõÈÛÛ¾ÛÛ× …ÛÈÛé 
™öé. Ýïõ¾Û©Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ˜ÛæïõÈÛÈÛÛ¶Ûà Ðü©Ûà. 14 
1-4-2009 ` 28,000 

31-3-2010 ` 35,000 

31-3-2011 ` 35,000 

31-3-2012 ` 35,000 

31-3-2013 ` 35,000 

 ËÛà ‘…’ –ÛÍÛÛÁõÛé ÈÛÛÜÌÛÙïõ 10% ÅÛé”Ûé –Û¤ø©Ûà ›÷©Ûà ¼ÛÛïõà ¸Û±ùÜ©Û ¾Ûä›÷¼Û •Û¨Ûé ™öé.  

 ©ÛíéýÛÛÁõ ïõÁõÛé : 

 (i) ËÛà ‘…’ ¶ÛÛ ˜ÛÛé¸Û¦éø ©ÛÛ. 31-3-2013 ÍÛäµÛà¶Ûä× ýÛ×ªÛ ”ÛÛ©Ûä×. 

 (ii) ½ÛÛÜÈÛ¶Û ¤Öéø¦øÍÛÙ¶ÛÛ ˜ÛÛé¸Û¦éø ËÛà ‘…’ ¶Ûä× ”ÛÛ©Ûä×. 

…¬ÛÈÛÛ 

 (A) ©ÛÛ. 1-4-2010¶ÛÛ ÁõÛé›÷ ËÛà ‘…’ …é ÁõÛ›÷ ¤Öéø¦øÍÛÙ ¸ÛÛÍÛé¬Ûà …éïõ ýÛ×ªÛ ½ÛÛ¦øÛ ”ÛÁõàþù ¸Û±ùÜ©Û¬Ûà ”ÛÁõà²ä×. 
Ýïõ¾Û©Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ˜ÛæïõÈÛÈÛÛ¶Ûà Ðü©Ûà : 4 
1-4-2010 ` 5,000 

31-3-2011 ` 6,500 

31-3-2012 ` 6,000 

31-3-2013 ` 5,500 

  ýÛ×ªÛ¶Ûà ÁõÛéïõ¦øÝïõ¾Û©Û ÉÛÛéµÛÛé …¶Ûé þùÁéõïõ Ðü¸©ÛÛ ÍÛÛ¬Ûé ˜ÛæïõÈÛÈÛÛ¶ÛÛ ÈýÛÛ›÷¶Ûà Áõïõ¾Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 
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 (B) ©ÛÛ. 1-4-2009¶ÛÛ ÁõÛé›÷ ËÛà ‘…’ …é …éïõ ýÛ×ªÛ ½ÛÛ¦øÛ ”ÛÁõàþù ¸Û±ùÜ©Û¬Ûà ”ÛÁõà²ä×, ›÷é¶ÛÛ ¶ÛÛ¨ÛÛ× ¶Ûà˜Ûé 
¸Ûó¾ÛÛ¨Ûé ˜ÛæïõÈÛÈÛÛ¶ÛÛ Ðü©ÛÛ : 10 
ïõÁõÛÁ ïõÁõ©Ûà ÈÛ”Û©Ûé : ` 25,000 

¸Ûó¬Û¾Û ÈÛÛÜÌÛÙïõ Ðü¸©ÛÛ ÍÛÛ¬Ûé : ` 22,500 

Ü³ù©ÛàýÛ ÈÛÛÜÌÛÙï Ðü¸©ÛÛ ÍÛÛ¬Ûé : ` 20,000 

©Ûè©ÛàýÛ ÈÛÛÜÌÛÙïõ Ðü¸©ÛÛ ÍÛÛ¬Ûé : ` 17,500 

˜Û©Ûä¬ÛÙ ÈÛÛÜÌÛÙïõ Ðü¸©ÛÛ ÍÛÛ¬Ûé : ` 15,000 

  þùÁõ ÈÛÌÛë ¼ÛÛïõà ÁõÐéü©Ûà ÉÛÄõ¶Ûà ÁõÛéïõ¦ø Ýïõ¾Û©Û ¸ÛÁõ ÈÛÛÜÌÛÙïõ 20% ÈýÛÛ›÷ ÈÛÍÛæÅÛ ¬ÛÛýÛ ™öé. ËÛà … ¶Ûä× 
ÜÐüÍÛÛ¼Ûà ÈÛÌÛÙ ©ÛÛ. 31¾Ûà ¾ÛÛ˜ÛÙ¶ÛÛ ÁõÛé›÷ ¸ÛæÄõ ¬ÛÛýÛ ™öé. ýÛ×ªÛ ¸ÛÁõ –Û¤ø©Ûà ›÷©Ûà ¼ÛÛïõà ¸Û±ùÜ©Û ¾Ûä›÷¼Û 
ÈÛÛÜÌÛÙïõ 10% ÅÛé”Ûé –ÛÍÛÛÁõÛé •Û¨ÛÛýÛ ™öé.  

  ýÛ×ªÛ ”ÛÁõàþù©Ûà ÈÛ”Û©Ûé ïäõÅÛ ÁõÛéïõ¦ø Ýïõ¾Û©Û ýÛ×ªÛ ”ÛÛ©Ûé ŠµÛÛÁõÛýÛ ™öé. ÁõÛéïõ¦ø Ýïõ¾Û©Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé …¶Ûé 
ËÛà ‘…’ ¶ÛÛ ˜ÛÛé¸Û¦éø ÈÛÌÛÙ 2009-10 …¶Ûé 2010-11 ¶Ûà …Û¾Û¶ÛÛêµÛ ÅÛ”ÛÛé. 

 

2. (A) …éïõ ÁõÛéïõÛ¨ÛïõÛÁõ ¾ÛÛ¤éø, ÁõÛéïõÛ¨ÛÛé¶ÛÛ …Û”ÛÁõ Í¤øÛéïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÈÛÛ ¾ÛÛ¤éø¶Ûà …ÅÛ•Û …ÅÛ•Û 
¸Û±ùÜ©Û…Ûé ›÷¨ÛÛÈÛÛé …¶Ûé ïõÛéˆ¸Û¨Û …éïõ ¸Û±ùÜ©Û ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 6 

…¬ÛÈÛÛ 

 (A) ¶Ûà˜Ûé¶ÛÛ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé : 

  (i) ÁõÛéïõÛ¨Û ”ÛÛ©Ûä× ¼Û¶ÛÛÈÛ©Ûà ÈÛ”Û©Ûé ÈýÛÛ›÷ ÍÛÜÐü©Û …¶Ûé ÈýÛÛ›÷ ÁõÜÐü©Û ÍÛÛéþùÛ…Ûé. 

  (ii) ÁõÛéïõÛ¨Û ”ÛÛ©ÛÛÈÛÐüà¶ÛÛ× ÍÛ×þù½Ûë ÈÛ¸ÛÁõÛ©ÛÛ ¶Ûà˜Ûé¶ÛÛ ÉÛ¼þùÛé ŠþùÛÐüÁõ¨Û …Û¸Ûà ÜÈÛ•Û©Ûé ÍÛ¾Û›ÛÈÛÛé : 

   (…) þùÅÛÛÅÛà 

   (¼Û) ¾Ûæ¦øà Ýïõ¾Û©Û 

 (B) ËÛà ‘…é¶Û’ …éïõ ÁõÛéïõÛ¨ÛïõÛÁõ ™öé. ËÛà ‘…é¶Û’¶ÛÛ 12% ¶Ûà ïéõ¶®ù ÍÛÁõïõÛÁõ¶Ûà ÅÛÛé¶Û¶ÛÛ ”ÛÁõàþù-ÈÛé˜ÛÛ¨Û 
…×•Ûé¶ÛÛ  ÍÛÛéþùÛ…Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé. ÈýÛÛ›÷ þùÁõ ÈÛÌÛë 30¾Ûà …éÜ¸ÛóÅÛ …¶Ûé 31¾Ûà 
…Ûéî¤øÛé¼ÛÁõ¶ÛÛ ÁõÛé›÷ ˜ÛæïõÈÛÛýÛ ™öé. 8 
©ÛÛÁõà”Û þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û 

` 
½ÛÛÈÛ 

` 
¶ÛÛêµÛ 

1-7-2012 18,000 98 ÈýÛÛ›÷ ÍÛÜÐü©Û ”ÛÁõàþùà 

1-10-2012 15,000 97 ÈýÛÛ›÷ ÁõÜÐü©Û ”ÛÁõàþùà 

1-2-2013 10,000 99 ÈýÛÛ›÷ ÍÛÜÐü©Û ÈÛé˜ÛÛ¨Û 

31-3-2013 7,500 101 ÈýÛÛ›÷ ÁõÜÐü©Û ÈÛé˜ÛÛ¨Û 

  þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û ¸ÛÁõ 2% þùÅÛÛÅÛà ™öé. ËÛà ‘…é¶Û’ ¶Ûä× ÜÐüÍÛÛ¼Ûà ÈÛÌÛÙ 31¾Ûà ¾ÛÛ˜ÛÙ¶ÛÛ ÁõÛé›÷ ¸ÛæÄõ ¬ÛÛýÛ 
™öé. ËÛà ‘…é¶Û’ ¶ÛÛ ˜ÛÛé¸Û¦éø Š¸ÛÁõ¶ÛÛ ˜ÛÛÁõ ÈýÛÈÛÐüÛÁõÛé ¶ÛÛêµÛÈÛÛ¶Ûà …Û¾Û¶ÛÛêµÛ ÅÛ”ÛÛé. 

…¬ÛÈÛÛ 
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 (B) ©ÛÛ. 1-4-2012 ¶ÛÛ ÁõÛé›÷ ËÛà ‘…é“Û’ …é 6% ¶Ûà ÍÛÁõïõÛÁõà ›Û¾Ûà¶Û•ÛàÁõà…Ûé ` 30,000 ¶Ûà 
Ýïõ¾Û©Û¶Ûà ` 102¶ÛÛ ½ÛÛÈÛ¬Ûà ”ÛÁõàþùà. ÈýÛÛ›÷ 31 ¾ÛÛ˜ÛÙ …¶Ûé 30 ÍÛ¸¤éø¾¼ÛÁõ¶ÛÛ ÁõÛé›÷ ˜ÛæïõÈÛÛýÛ ™öé.     
©ÛÛ. 31-3-2013 ¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ¶ÛÛ ÈýÛÈÛÐüÛÁõÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û Ðü©ÛÛ : 

©ÛÛÁõà”Û þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û 

` 

½ÛÛÈÛ 

` 

¶ÛÛêµÛ 

31-7-2012 12,000 98 ÈýÛÛ›÷ ÍÛÜÐü©Û ”ÛÁõàþùà 

15-11-2012 2,000 96 ÈýÛÛ›÷ ÁõÜÐü©Û ”ÛÁõàþùà 

30-11-2012 22,000 99 ÈýÛÛ›÷ ÍÛÜÐü©Û ÈÛé˜ÛÛ¨Û 

15-2-2013 12,000 104 ÈýÛÛ›÷ ÁõÜÐü©Û ÈÛé˜ÛÛ¨Û 

  ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷ ¼Û›ÛÁõ ½ÛÛÈÛ ` 95 ™öé. FIFO ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ËÛà ‘…é“Û’¶ÛÛ 
˜ÛÛé¸Û¦éø ©ÛÛ. 31-3-2013 ¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ¶Ûä× ÁõÛéïõÛ¨Û ”ÛÛ©Ûä× ©ÛíéýÛÛÁõ ïõÁõÛé. 

 

3. (A) ËÛà ‘…’ …¶Ûé ‘¼Û’ ˆ‡•ÅÛé¶¦ø¬Ûà ¾ÛÛÅÛ …ÛýÛÛ©Û ïõÁõÈÛÛ ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ¾ÛÛ× ›Ûé¦øÛýÛÛ. ©ÛÛ. 1-4-2012¶ÛÛ 
ÁõÛé›÷ ÍÛ×ýÛäî©Û ¼Ûêïõ ”ÛÛ©Ûä× ”ÛÛéÅÛÛÈÛà ©Ûé¾ÛÛ× ¼Û×¶Ûé…é …¶Ûä’õ¾Ûé ` 30,000 …¶Ûé ` 20,000 ›÷¾ÛÛ ïõÁõÛÈýÛÛ. 
©Ûé…Ûé…é …Û ÉÛÄõ…Û©Û¶ÛÛ ºõÛÇÛ¶Ûà Áõïõ¾Û¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ¶ÛºõÛé ¶ÛäïõÍÛÛ¶Û ÈÛÐêü˜ÛÈÛÛ¶Ûä× ¶Û‘õà ïõýÛäÚ. ©Ûé…Ûé…é 
ˆ‡•ÅÛé¶¦ø¶ÛÛ þùÅÛÛÅÛ¶Ûé ¾ÛÛÅÛ ”ÛÁõàþùÈÛÛ ¸Ûé¤éø ` 36,000 ¾ÛÛéïõÅÛà …Û¸ýÛÛ …¶Ûé ¸Û™öà¬Ûà ÜÐüÍÛÛ¼Û¶Ûà 
…Û”ÛÁõà ¸Û©ÛÛÈÛ¤øÄõ¸Ûé ¼Ûà›Û ` 2,000 ¾ÛÛéïõÅýÛÛ. ¾Ûä×¼Ûˆ¾ÛÛ× ½ÛÛ¦ä×ø …¶Ûé ÈÛà¾ÛÛ¶ÛÛ ”Û˜ÛÙ ¾ÛÛ¤éø ` 2,000 
˜ÛæïõÈýÛÛ.  7 

  ©ÛÛ. 31-12-2012 ¶ÛÛ ÁõÛé› ÈÛé˜ÛÛ¨Û¾ÛÛ×¬Ûà ` 48,000 Š¸ÛšýÛÛ. ËÛà ‘…’ …é ¼ÛÛïõà¶ÛÛé ¾ÛÛÅÛ       
` 7,600¾ÛÛ× ÅÛˆ ÅÛàµÛÛé. ÍÛÐü½ÛÛ•ÛàþùÛÁõÛé¶Ûé ÈýÛÛ›÷ ¾ÛÇÈÛÛ ¸ÛÛªÛ ¶Û¬Ûà. þùÅÛÛÅÛ¶Ûé ˜ÛæïõÈÛéÅÛ Áõïõ¾Û¾ÛÛ× ©Ûé¶ÛÛ 
ïõ¾ÛàÉÛ¶Û¶ÛÛé ¸Û¨Û ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé.  

  ¼ÛµÛà ›÷ Š¸Û›÷ …¶Ûé ˜ÛæïõÈÛ¨Ûà ÍÛ×ýÛäî©Û ¼Ûêïõ ³ùÛÁõÛ ¬ÛÛýÛ ™öé.  

  ©ÛíéýÛÛÁõ ïõÁõÛé : 

  (i) ÁõÛÉÛ ”ÛÛ©Ûä× 

  (ii) ÍÛ×ýÛäî©Û ¼Ûêïõ ”ÛÛ©Ûä× 

  (iii) ÍÛÐü-½ÛÛ•ÛàþùÛÁõÛé¶ÛÛ ”ÛÛ©ÛÛ 

 (B) ‘ïõÛ˜Ûä× ÁõÛÉÛ ”ÛÛ©Ûä×’ …é¤øÅÛé ÉÛä× ? ©Ûé îýÛÛÁéõ …¶Ûé ïéõÈÛà Áõà©Ûé ¼Û¶ÛÛÈÛÛýÛ ™öé ? 7 

    …¬ÛÈÛÛ 

 (B) ÁõÛÉÛ ”ÛÛ©Ûä× ¼Û¶ÛÛÈÛ©Ûà ÈÛ”Û©Ûé ‘…ÍÛÛ¾ÛÛ¶ýÛ ¶ÛäïõÍÛÛ¶Û’ …¶Ûé ‘¼Ûêïõ¬Ûà ÈÛ¤øÛÈÛéÅÛ ÅÛé¨Ûà Ðæ×ü¦øà ¸ÛÁõ¶ÛÛ 
ÈÛ¤øÛÈÛ’¶Ûà …ÍÛÁõ ÉÛä× …Û¸ÛÉÛÛé ©Ûé ŠþùÛÐüÁõ¨Û …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé. 

…¬ÛÈÛÛ 
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3. …¾ÛþùÛÈÛÛþù¶ÛÛ ‘…’ …¶Ûé ¼ÛÛé¾¼Ûé¶ÛÛ ‘¼Û’ ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ¾ÛÛ× ›Ûé¦øÛýÛÛ …¶Ûé ºõÛéÁõ˜ýÛä¶Û ÜÅÛ.¶ÛÛ ` 10 ¶ÛÛé …éïõ 

…éÈÛÛ 5,000 ˆÜîÈÛ¤øà ÉÛéÁõ 30% ¸ÛóàÜ¾ÛýÛ¾Û¬Ûà ¼ÛÐüÛÁõ ¸Û¦øÛýÛéÅÛ ›ÛÐéüÁõ ½ÛÁõ¨ÛÛ …×•Ûé ¼ÛÛ×ÐéüµÛÁõà …Û¸Ûà. ÉÛéÁõ 

¾Û×›æ÷Áõà ÍÛäµÛà¶ÛÛ ©Û¾ÛÛ¾Û ”Û˜ÛÛÙ…Ûé ¼ÛÛ×ÐéüµÛÁõà þùÅÛÛÅÛÛé ˜ÛæïõÈÛÉÛé. ©Ûé…Ûé ¶ÛºõÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ÈÛÐêü˜ÛÉÛé : 14 

 (i) ` 2,000 ÍÛäµÛà¶ÛÛé ¶ÛºõÛé 3 : 2 ¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× 

 (ii) ¼ÛÛïõà¶ÛÛé ¶ÛºõÛé ÍÛÁõ”ÛÛ ÜÐüÍÍÛé 

 ºõÛéÁõ˜ýÛä¶Û ÜÅÛ. ¼ÛþùÅÛÛ¾ÛÛ× ¼ÛÛ×ÐéüµÛÁõà þùÅÛÛÅÛÛé¶Ûé 500 ˆÜîÈÛ¤øà ÉÛéÁõ …Û¸ÛÉÛé. 

 ‘…’ …é Í¤éø¾¸Û …¶Ûé Áõœ÷Í¤ÖéøÉÛ¶Û, ›ÛÐéüÁõÛ©Û, Ü¸Ûó¶¤øá•Û …¶Ûé Í¤éøÉÛ¶ÛÁõà ”Û˜ÛÙ¶ÛÛ ` 1,500 ˜ÛæïõÈýÛÛ. šýÛÛÁéõ 
‘¼Û’ …é ïõÛ¶Ûæ¶Ûà …¶Ûé …¶ýÛ ÈÛÐüàÈÛ¤øà ”Û˜ÛÙ¶ÛÛ ` 2,000 ˜ÛæïõÈýÛÛ. 

 ‘¼Û’ …é ` 5,000 ¶Ûà Ðæ×ü¦øà ÍÈÛàïõÛÁõà ‘…’ ¶Ûé ¾ÛÛéïõÅÛà …Û¸Ûà. ›÷é ‘…’ …é ` 4,900 ¾ÛÛ× ¼Ûêïõ¾ÛÛ× ÈÛ¤øÛÈÛà. 

ÈÛ¤øÛÈÛ ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ¶ÛÛé ”Û˜ÛÙ •Û¨ÛÈÛÛ¶ÛÛé ™öé.  

 ï×õ¸Û¶Ûà¶Ûé 3,800 ÉÛéÁõ ¾ÛÛ¤éø …Áõœ÷…Ûé ¾ÛÇà. ‘…’ …é ¼ÛÛïõà ÉÛéÁõ ï×õ¸Û¶Ûà¾ÛÛ×¬Ûà ”ÛÁõàþùà¶Ûé Áõïõ¾Û ˜ÛæïõÈÛà 

…Û¸Ûà. ïõ¾ÛàÉÛ¶Û ¸Ûé¤éø ›÷ÄõÁõà ÉÛéÁõ ï×õ¸Û¶Ûà ©ÛÁõºõ¬Ûà ¾ÛÇà •ÛýÛÛ. ©Ûé ©Û¾ÛÛ¾Û ÉÛéÁõ ` 15 ¶Ûà Ýïõ¾Û©Ûé ÈÛé˜Ûà þùàµÛÛ. 
þùÅÛÛÅÛà þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û¶ÛÛ 2% ˜ÛæïõÈÛà. 700 ÉÛéÁõ¶ÛÛ ¶ÛÛ¨ÛÛ ‘…’ ¶Ûé ¾ÛÆýÛÛ …¶Ûé ¼ÛÛïõà¶ÛÛ ÉÛéÁõ¶ÛÛ ¶ÛÛ¨ÛÛ× 

‘¼Û’ ¶Ûé ¾ÛÆýÛÛ. ¼ÛÛïõà ÁõÐéü©Ûà Áõïõ¾Û ¸Ûé¤éø ‘¼Û’ …é ‘…’ ¶Ûé Ü¦ø¾ÛÛ¶¦ø ¦ÖøÛ¹¤ø ¾ÛÛéïõÅÛà …Û¸ýÛÛé. 

 ‘¼Û’¶ÛÛ ˜ÛÛé¸Û¦éø ÁõÛÉÛ ”ÛÛ©Ûä× …¶Ûé ‘…’¶Ûä× ”ÛÛ©Ûä× ¼Û¶ÛÛÈÛÛé. ©Ûé¾Û›÷ ‘…’ ¶ÛÛ ˜ÛÛé¸Û¦éø ‘¼Û’¶Ûä× ”ÛÛ©Ûä× ¸Û¨Û ©ÛíéýÛÛÁõ 

ïõÁõÛé. 

 

4. (A) 7.2 ¤éøÅÛà¾ÛÛ× ¶ÛÈÛà ï×õ¸Û¶Ûà Š½Ûà ïéõÈÛà Áõà©Ûé ¬ÛÛýÛ ? ï×õ¸Û¶Ûà Ü’õ…éÉÛ¶Û¶Ûà ÜÈÛ•Û©ÛÛé …Û¸ÛÛé. 7 

…¬ÛÈÛÛ 

  ‘¤éøÅÛà ÍÛÛé¹¤øÈÛéÁõ 7.2’ Š¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé …¶Ûé …•ÛÛŠ¶ÛÛ ÍÈÛÄõ¸Û¶ÛÛ ÈÛ¡öÙ¶Û ÍÛÛ¬Ûé¶Ûà ÍÛÁõ”ÛÛ¾Û¨Ûà 

ïõÁõ©ÛÛ× ©Ûé¶ÛÛ ”ÛÛÍÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 

 (B) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (…éïõ …¬ÛÈÛÛ ¼Ûé ÈÛÛîýÛ¾ÛÛ×) 7 

  (1) ˜ÛæïõÈÛ¨Ûà ÈÛÛŠ˜ÛÁõ¶Ûà ¶ÛÛêµÛ ¾ÛÛ¤éø ¤éøÅÛà ÍÛÛé¹¤øÈÛéÁõ¾ÛÛ× ïõˆ ‘ïõà’ ÈÛ¸ÛÁõÛýÛ ™öé ? 

  (2) ¾ÛÛÜÅÛïõ¶Ûä× …×•Û©Û Íïæõ¤øÁõ µÛ×µÛÛ¾ÛÛ× ÅÛÛÈÛà…é ©Ûé¶Ûé ¶ÛÛêµÛÈÛÛ ¤éøÅÛà ÍÛÛé¹¤øÈÛéÁõ¾ÛÛ× ïõˆ ‘ïõà’¶ÛÛé 

Š¸ÛýÛÛé•Û ¬ÛÛýÛ ? 

  (3) ‘¼Ûêïõ¾ÛÛ×¬Ûà Š¸ÛÛ¦éøÅÛ ÁõÛéïõ¦’ø ÈýÛÈÛÐüÛÁõ ¶ÛÛêµÛÈÛÛ ¤éøÅÛà ÍÛÛé¹¤øÈÛéÁõ¾ÛÛ× ïõˆ ‘ïõà’¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ 
™öé ? 
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  (4) ÈÛÛŠ˜ÛÁõ¶Ûà ¶ÛÛêµÛ ïõÁõ©Ûà ÈÛ”Û©Ûé ¶ÛÈÛä× ”ÛÛ©Ûä× ”ÛÛéÅÛÈÛÛ ¾ÛÛ¤éø ¤éøÅÛà¾ÛÛ× ïõˆ ‘ïõà¡’ ö¶ÛÛé Š¸ÛýÛÛé•Û    

¬ÛÛýÛ ? 

  (5) ÈÛÛŠ˜ÛÁõ¶Ûé ïéõ¶ÍÛÅÛ ïõÁõÈÛÛ ¤éøÅÛà¾ÛÛ× ÉÛä× ïõÁõÉÛÛé ? 

  (6) ïõˆ ‘ïõà’ ³ùÛÁõÛ ¤éøÅÛà¾ÛÛ× ©ÛÛÁõà”Û ¼ÛþùÅÛÛýÛ ? 

  (7) …Û•ÛÇ¶ÛÛ ÈÛÛŠ˜ÛÁ¶Ûà ÜÈÛ•Û©Û (¶ÛÁéõÉÛ¶Û) Áõà¸Ûà¤ø ïõÁõÈÛÛ ¤éøÅÛà¾ÛÛ× ïõˆ ‘ïõà’¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ ? 

 

5. ÍÛÛíé¬Ûà ýÛÛé•ýÛ ÜÈÛïõÅ¸Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé : 14 

 (1) VAT ÍÛÛ¬Ûé ”ÛÁõàþùà …¶Ûé ÈÛé˜ÛÛ¨Û¶ÛÛ ÜÐüÍÛÛ¼ÛÛé ÁõÛ”ÛÈÛÛ ¾ÛÛ¤éø 

  (a) only Accounts ¾ÛÛ× ›÷ÈÛä× 

  (b) only Inventory ¾ÛÛ× ›÷ÈÛä× 

  (c) Accounts with Inventory ¾ÛÛ× ›÷ÈÛä× 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (2) ¤éøÅÛà 7.2 ¾ÛÛ× ¶Ûà˜Ûé¶ÛÛ ªÛ¨Û ©Û«ÈÛÛé¶ÛÛé Š¾ÛéÁõÛé ¬ÛýÛÛé ™öé : 

  (a) ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä×, ÁõÛéïõ¦ø ¸ÛóÈÛÛÐ ¸ÛªÛïõ, •Ûä¨ÛÛé«ÛÁõÛé 

  (b) ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä×, ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä×, ïõÛ˜Ûä× ÍÛÁõÈÛíéýÛä× 

  (c) ÈÛé¤ø, ¾ÛæÇ Í¬ÛÛ¶Ûé¬Ûà ïõ¸ÛÛ©Û, ÍÛÜÈÛÙÍÛ ¤éø“Û 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (3) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛé ‘CPU’ ¶ÛÛé ½ÛÛ•Û ™öé ? 

  (a) ïõà ¼ÛÛé¦Ùø 

  (b) Ü¶ÛýÛ×ªÛ¨Û …éïõ¾Û 

  (c) Ü¶Û•ÛÙ¾Û …éïõ¾Û 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 
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 (4) ÁõÛÉÛ¶ÛÛ µÛ×µÛÛ¾ÛÛ× šýÛÛÁéõ •ÛóÛÐüïõ¶Ûé ¾ÛÛÅÛ ¼Û“ÛàÍÛ ©ÛÁõàïéõ …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛé ©ýÛÛÁéõ ïõýÛä× ”ÛÛ©Ûä× ŠµÛÛÁõÈÛÛ¾ÛÛ× 

…ÛÈÛé ™öé ? 

  (a) ¼Û“ÛàÍÛ ”ÛÛ©Ûä× 

  (b) ÁõÛÉÛ ”ÛÛ©Ûä× 

  (c) ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (5) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ”ÛÛ©Ûä× ¼Û¶ÛÛÈÛÈÛÛ Ü³ùõ¶ÛÛêµÛà ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ¬Û©ÛÛé ¶Û¬Ûà ? 

  (a) ÁõÛÉÛ ”ÛÛ©Ûä× 

  (b) ïõÛ˜Ûä ÁõÛÉÛ ”ÛÛ©Ûä× 

  (c) ÍÛ×ýÛäî©Û ¼Ûêïõ ”ÛÛ©Ûä× 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (6) ÁõÛÉÛ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ¾ÛÛÅÛ¶ÛÛé ÍÛÛ¾ÛÛ¶ýÛ ¶ÛäïõÍÛÛ¶Û ïõýÛÛ ”ÛÛ©Ûé ŠµÛÛÁõÛýÛ ? 

  (a) ÍÛÛ¾ÛÛ¶ýÛ ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûé  

  (b) ÁõÛÉÛ ”ÛÛ©Ûé 

  (c) …éïõ¸Û¨Û ”ÛÛ©Ûé ŠµÛÛÁõÛýÛ ¶ÛÐüá 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (7) ‘ÈýÛÛ›÷ ÍÛÜÐü©Û’ Ýïõ¾Û©Û ‘ÈýÛÛ›÷ ÁõÜÐü©Û’ Ýïõ¾Û©Û ïõÁõ©ÛÛ× ________ ÐüÛéýÛ ™öé.  

  (a) …Ûé™öà  

  (b) ÈÛµÛÛÁéõ 

  (c) …Ûé™öà …¬ÛÈÛÛ ÈÛµÛÛÁéõ 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (8) ÈýÛÛ›÷ ÁõÜÐü©Û ”ÛÁõàþùà¾ÛÛ× ÁõÛéïõÛ¨ÛÛé¶Ûà ¾Ûæ¦øà Ýïõ¾Û©Û …é¤øÅÛé (þùÅÛÛÅÛà ˜ÛæïõÈÛÛýÛ ©ýÛÛÁéõ) 

  (a) ”ÛÁõàþùà ÈÛ”Û©Û¶Ûà ¼Û›ÛÁõ Ýïõ¾Û©Û 

  (b) ”ÛÁõàþ Ýïõ¾Û©Û + ÈýÛÛ›÷ + þùÅÛÛÅÛà 

  (c) ”ÛÁõàþù Ýïõ¾Û©Û – ÈýÛÛ›÷ + þùÅÛÛÅÛà 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 
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 (9) ÁõÛéïõÛ¨Û¶Ûà ¸Û¦ø©ÛÁõ¾ÛÛ× ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ. 

  (a) Í¤éø¾¸Û ¦øÀä¤øà 

  (b) þùÅÛÛÅÛà 

  (c) ¼Û×¶Ûé (a) …¶Ûé (b) 

  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (10) ½ÛÛ¦éø ”ÛÁõàþù ¸Û±ùÜ©Û¾ÛÛ× ÈýÛÛ›÷ ÉÛé¾ÛÛ× ÍÛ¾ÛÛýÛéÅÛ ¶Û¬Ûà ? 

  (a) ”ÛÁõàþù©Ûà ÈÛ”Û©Ûé ˜ÛæïõÈÛÈÛÛ¶Ûà Áõïõ¾Û 

  (b) ½ÛÛ¦éø ”ÛÁõàþù Ýïõ¾Û©Û 

  (c) Ðü¸©ÛÛ¶Ûà Áõïõ¾Û  

  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (11) ½ÛÛ¦éø ”ÛÁõàþù ¸Û±ùÜ©Û¾ÛÛ× ”ÛÁõàþù¶ÛÛÁõ¶Ûé îýÛÛÁéõ ¾ÛÛÅÛ¶Ûà ¦øàÅÛàÈÛÁõà …¸ÛÛýÛ ? 

  (a) ¸Ûó¬Û¾Û Ðü¸©ÛÛé ˜ÛæïõÈÛÛýÛ ©ýÛÛÁéõ 

  (b) ïõÁõÛÁõ ¸ÛÁõ ÍÛÐüà ¬ÛÛýÛ ©ýÛÛÁéõ 

  (c) ™öéÅÅÛÛé Ðü¸©ÛÛé ˜ÛæïõÈÛÛýÛ ©ýÛÛÁéõ 

  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (12) ½ÛÛ¦éø ”ÛÁõàþù ¸Û±ùÜ©Û¾ÛÛ× ÈýÛÛ›÷ ÉÛé¶ÛÛ ¸ÛÁõ ˜ÛæïõÈÛÛýÛ ™öé ? 

  (a) ÁõÛéïõ¦ø Ýïõ¾Û©Û ¸ÛÁõ 

  (b) ½ÛÛ¦éø ”ÛÁõàþù Ýïõ¾Û©Û ¸ÛÁõ 

  (c) þùÁõ Ðü¸©ÛÛ¶Ûà ÉÛÄõ…Û©Û¾ÛÛ× ¼ÛÛïõà ÁõÐéüÅÛà ÁõÛéïõ¦ø Ýïõ¾Û©Û ¸ÛÁõ 

  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (13) ½ÛÛ¦éø ”ÛÁõàþù ¸Û±ùÜ©Û¾ÛÛ× ”ÛÁõàþù¶ÛÛÁõ¶Ûé ¾ÛÛÅÛ¶Ûà ¾ÛÛÜÅÛïõà îýÛÛÁéõ ¾ÛÇé ? 

  (a) ¸Ûó¬Û¾Û Ðü¸©ÛÛé ˜ÛæïõÈÛÛýÛ ©ýÛÛÁéõ  

  (b) ïõÁõÛÁõ ¸ÛÁõ ÍÛÐüà ¬ÛÛýÛ ©ýÛÛÁéõ 

  (c) ™öéÅÅÛÛé Ðü¸©ÛÛé ˜ÛæïõÈÛÛýÛ ©ýÛÛÁéõ  

  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 
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 (14) ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé þùÅÛÛÅÛà ÉÛé¶ÛÛ Š¸ÛÁõ •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  (a) ¾ÛæÇ Ýïõ¾Û©Û 

  (b) ¼Û›ÛÁõ Ýïõ¾Û©Û 

  (c) þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û 

  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

________ 
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Seat No. :  _______________ 
  

XP-109 
B.Com. (Sem.-II) 

April-2013 

108 - Accountancy-II 
 

Time :  3 Hours]  [Max. Marks : 70 
 

 

Instructions :  (1) Attempt all questions. 

   (2) Figures to the right side indicate maximum marks.  

 

1. Mr. A purchased a machine from Bhavin Traders under the Hire-Purchase System on      
1-4-2009. Cash price of the machine was ` 1,40,000. Total cash price is debited to 
machine account at the time of signing the contract. The payment under Hire purchase 
agreement was to be made as under : 14 

1-04-2009 ` 28,000 

31-03-2010 ` 35,000 

31-03-2011 ` 35,000 

31-03-2012 ` 35,000 

31-03-2013 ` 35,000 

 Mr. A is computing the depreciation every year at 10% p.a. under Diminishing Balance 
Method.  

 You are required to prepare the following : 

 (i) Machine A/c in the books of Mr. A till 31-03-2013. 

 (ii) Mr. A’s A/c in the books of Bhavin Traders. 

OR 
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1. (A) Mr. A purchased a machine from Raj Traders on Hire Purchase System on                 
1-4-2010. ` 5,000 was to be paid at the time of delivery and the balance amount 
was payable as follows :   4 

  On 31-03-2011 : ` 6,500 

  On 31-03-2012 : ` 6,000 

  On 31-03-2013 : ` 5,500 

  Find out cash price of machine and also amount of interest with every instalment. 

 (B) On 01-04-2009 Mr. A purchased a machinery on Hire Purchase System. The 
amount was payable as follows : 10 

On signing the agreement  : ` 25,000 

With 1st Annual Instalment : ` 22,500 

With 2nd Annual Instalment : ` 20,000 

With 3rd Annual Instalment : ` 17,500 

With 4th Annual Instalment : ` 15,000 

  The interest is charged at 20% p.a. on opening balance of cash price each year. The 
accounting year of Mr. A ends on 31st March. The depreciation on Machinery is 
charged at 10% p.a. on Diminishing Balance Method. Total cash price is debited to 
machine account at the time of signing the contract. 

  Calculate Cash price and give entries in the books of Mr. A for the years 2009-10 
and 2010-11. 

 

2. (A) State which are the methods of valuing closing stock of investments, for an    
Investor. Explain any one of them with suitable example. 6 

OR 

  (A) Write notes on :    

  (i) Cum-interest and Ex-interest transactions while preparing Investment 
Account. 

  (ii) Explain the following terms in detail with example with reference to 
Investment Accounts : 

   (A) Brokerage 

   (B) Capital cost 
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 (B) Mr. ‘N’ is an Investor. The following are given the transactions of Mr. ‘N’ 
regarding the purchases and sales of 12% Central Government Loan. Interest is 
payable on 30th April and 31st October every year : 8 

Date Face value 
(`) 

Price 
(`) 

Remarks  

01-7-2012 18,000 98 Cum-interest purchase 

01-10-2012 15,000 97 Ex-interest purchase  

01-02-2013 10,000 99 Cum-interest sales 

31-03-2013 7,500 101 Ex-interest sales 

  Brokerage is 2% on Face value. Give entries in the books of Mr. ‘N’ for recording 
above four transactions. Accounting year of Mr. ‘N’ ends on 31st March. 

OR 

 (B) On 01-04-2012 Mr. X purchased 6% Government Securities of the face value of         
` 30,000 at ` 102. Interest is payable on 31st March and 30th September. 
Transactions for the year ended on 31-03-2013 were as under :  

Date Face value 
(`) 

Price 
(`) 

Remarks  

31-07-2012 12,000 98 Purchase-cum-Interest 

15-11-2012 2,000 96 Purchase Ex-Interest 

30-11-2012 22,000 99 Sales Cum-Interest 

15-02-2013 12,000 104 Sales Ex-Interest 

  On 31st March, 2013 the market value was ` 95. Prepare Investment Account for 
the year ended on 31-3-2013 in the books of Mr. X. (Use FIFO Method). 
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3. (A) Mr. A and B entered into joint venture to import goods from U.K. On 1-4-2012 
they opened a Joint Bank Account and deposited respectively ` 30,000 and                 
` 20,000 and agreed to share profits in the proportion of this initial contribution. 
They remitted ` 36,000 to their agent at U.K. to pay for the goods purchased and 
later on ` 2,000 in full and final settlement. At Bombay freight and insurance 
amounting ` 2,000 were paid. 7 

  On 31st December, 2012 amount realised from sales was ` 48,000. Mr. A agreed to 
take over the remaining goods at ` 7,600. Co-venturers are not entitled to receive 
any interest on capital. The amount paid to agent includes commission also. 

  All payments and receipts are routed through Joint Bank Account. 

  Prepare (i) Joint Venture Account (ii) Joint Bank Account (iii) Co-venturers 
Accounts. 

 (B) What is Memorandum Joint Venture Account ? Explain when and how is it 
prepared.    7 

OR 

 (B) Explain in Joint Venture, the treatment of ‘Abnormal loss’ and ‘discount on Bills 
Receivable discounted with Bank’ with examples. 7 

OR 

3. A of Ahmedabad entered into joint venture with B of Bombay to underwrite the 
subscription of 5,000 equity shares of ` 10 each issued at 30% premium by Fortune 
Limited and to pay all expenses upto share allotment. They were to share profits up to ` 
2,000 in the ratio of 3 : 2 and balance profit equally. In consideration Fortune Limited to 
issue to the underwriters 500 equity shares. 14 

 A incurred ` 1,500 for Stamping & Registration, Advertising, Printing & Stationery. B 
incurred ` 2,000 for legal charges and other administration expenses. B sent his 
acceptance of ` 5,000 to A which was discounted by A in the Bank for ` 4,900. The 
discount on the Bill is to be considered as expenses of Joint Venture. 

 The prospectus was issued and company received applications for 3,800 shares. A took 
over the remaining shares on joint account and paid for the same in full. They received 
equity shares as underwriting commission. They sold their entire holding at ` 15 per 
share. Brokerage is paid at 2% of face value. The proceeds were received by A for 700 
shares and by B for the remaining shares. B sent demand draft to A for the balance 
amount due. 

 Prepare the Joint Venture Account and A’s Account in the Books of B and B’s account 
in the books of A. 
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4. (A) How is the new company created in Tally 7.2 version ? Give details about creating 
a company.   7 

OR 

  Write a short note on “Tally software 7.2” and explain its special features as 
compared to earlier versions. 

 (B) Reply in brief (in one or two sentences ) : 7 

  (1) In tally software which function ‘key’ is used for recording payment voucher ? 

  (2) In tally software which used the function ‘key’ is for recording transaction of 
personal scooter brought in business by the proprietor ? 

  (3) In tally software which function ‘key’ is used for recording the transaction of 
‘Cash withdrawn from Bank’ ? 

  (4) While entering a voucher which function keys are required for creating a new 
ledger account in tally ? 

  (5) In Tally, how will you delete any voucher ? 

  (6) In Tally, how will you change the date ? Mention function ‘key’. 

  (7) In Tally, which function ‘key’ is used to repeat the narration of previous 
voucher ? 

  

5. Select the most appropriate answer from the alternatives given. 14 

 (1) If accounts of purchase and sales are required with VAT, then we must go 

  (a) into only accounts  

  (b) into only inventory 

  (c) into accounts with inventory  

  (d) None of the above 

 (2) The following three features are added in Tally 7.2 version : 

  (a) Balance Sheet, Cash Flows statement, Ratios 

  (b) Balance Sheet, Profit & Loss A/c, Trial Balance 

  (c) VAT, TDS, Service Tax 

  (d) None of the above 
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 (3) Which of the following is called part of CPU ? 

  (a) Key Board  

  (b) Control Unit 

  (c) Output unit  

  (d) None of the above 

 (4) In joint venture if goods are given as gift to customer, which of the following 
account is debited ? 

  (a) Gift Account  

  (b) Joint Venture Account 

  (c) Profit & Loss Account   

  (d) None of the above 

 (5) Which of the following accounts does not follow double entry system of book 
keeping ? 

  (a) Joint Venture Account  

  (b) Memorandum Joint Venture Account 

  (c) Joint Bank Account  

  (d) None of the above 

 (6) Normal loss of goods in Joint Venture is debited to 

  (a) General Profit & Loss Account  

  (b) Joint Venture Account 

  (c) Not debited to any account  

  (d) None of the above 

 (7) Cum interest price of security is ________ than ex-interest price. 

  (a) less   

  (b) more 

  (c) may be more or less  

  (d) None of the above 
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 (8) The capital value of investments in case of Ex-Interest purchase (subject to 
Brokerage) means : 

  (a) Market price on the date of purchase 

  (b) Purchase price + Interest + Brokerage 

  (c) Purchase price – Interest + Brokerage 

  (d) None of the above 

 (9) Cost of investment includes  

  (a) Stamp duty  

  (b) Brokerage 

  (c) Both (a) and (b)  

  (d) None of the above 

 (10) In case of Hire purchase system, interest is not included in 

  (a) Down payment  

  (b) Hire purchase price 

  (c) Instalment  

  (d) None of the above 

 (11) Under the Hire purchase system, goods are delivered to the hirer when  

  (a) First instalment is paid  

  (b) Agreement is signed 

  (c) Last instalment is paid  

  (d) None of the above  

 (12) Interest is calculated on ________ under hire purchase agreement. 

  (a) Cash price  

  (b) Hire purchase price 

  (c) Balance of cash price outstanding at the beginning of instalment 

  (d) None of the above 
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 (13) Under the Hire Purchase system, ownership of goods is transferred to the hirer 
when 

  (a) First instalment is paid.  

  (b) Agreement is signed. 

  (c) Last instalment is paid.  

  (d) None of the above 

 (14) Generally Brokerage is calculated on ________. 

  (a) Nominal value  

  (b) Market value 

  (c) Face value  

  (d) None of the above 

 
________ 
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